RIVMER

A BRITISH COMPANY SUPPORTING BRITISH CARS

MUDFLAP FITTING KIT

Range Rover Classic

Part Number: RTC9562

About the design

X1  LEFT HAND BRACKET
X1  RIGHT HND BRACKET

X1  LEFT HAND ANGLE BRACKET
X1 RIGHT HAND ANGLE BRACKET
X8  NO M6 X 20 SET BOLTS

X8  NO M6 X 25 SET BOLTS S —— pE—— .}
X32 NO M6 FLAT WASHERS

X16 NO M6 FULL NUTS

X16 NO M6 SPRING WASHERS

X1  PAIR BR 3092 MUD FLAPS

TAINING ANGLE

MOUNTING
ANGLE

QUALITY PARTS AND ACCESSORIES

"'”'" (@5 " LAND EJAGUAR
e ) © @ 9 U B mm
Triumph House, Sleaford Road, Bracebridge Heath, Lincoln LN4 2NA, England

UK Tel: +44 (0)1522 568000 | USATel: 1 855746 2767 | Fax: +44 (0)1522 567600 | E-mail: sales@rimmerbros.com
www.rimmerbros.com

Registered in England No. 2155394



